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5 X 4 BE | Nimh o0 IEEE AORES[ 7 4 THEALDKE | ma NORES X 4 Be | LinpohIEs AORES[ 7 4 ERALONS | B= NOKRES
(m) (m) (kN/m) BB (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
] 100kN/m%E#B 2% — -~ = —|3mzBz3 — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZD — ~ — — —
Zzh st 1.00 | 000 ~ 188 2651 | Enst | 000 ~ 188 262 13.24 zhust 1.00 | 5.00 ~ 5.00 26.51 | #hst | 500 ~ 500 262 13.24
2 100kN/m%E#B 2% — -~ = —|3mzBZB — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZ D — ~ — — —
zhst 1.00 | 0.00 ~ 640 80.59 | #hs | oo0o ~ 6410|213 10.78 zhust 1.00 | 5.00 ~ 998 80.59 | #hust | 500 ~ 998 213 10.78
3 100kN/m%E#8z%5| 1.00 1000 ~ 045| 10673 |3mE8BZD - ~ — — — | 100kN/MZE#BZ2 | 1.00 | 1250 ~ 1398 106.73 |3m&EHZD - ~ — — —
Zzhn st 1.00 045 ~ 824 100.00 | Ths | 000 ~ 824| 252 12.75 zhust 1.00 | 6,00 ~ 1250 100.00| ZFhS | 5,00 ~ 1398] 252 12.75
4 100kN/m%E#825 | 1.00 | 000 ~ 193 129.72 |3m&E#8z23| — ~ — — — | 100kN/mi%E#822 | 1.00 | 1142 ~ 1872| 129.72 |3mERZD — ~ — — —
zhst 1.00| 193 ~ 971 100.00 | #hst | 000 ~ 971 262 13.23 zhust 1.00 | 6,00 ~ 1142 100.00 | ZhS | 500 ~ 1872| 262 13.23
5 100kN/m%E#8z%5| 1.00 000 ~ 209| 132532 |3mE8ZD - ~ — — — | 100kN/MZE#BZ2 | 1.00 | 11.57 ~ 1990 132.32 |3m&EHZD - ~ — — —
Zzh st 1.00 209 ~ 987 100.00 | Ths 000 ~ 987| 264 13.33 zhust 1.00 | 6,00 ~ 1157 100.00 | Zhs | 500 ~ 19.90| 264 13.33
g 100kN/m%E#8z%5| 1.00 000 ~ 233| 13639 |3mE8ZD -~ — — — | 100kN/M%E#BZ2 | 1.00 | 1061 ~ 1985 136.39 |3m&EHZD - ~ — — —
zhst 1.00 | 233 ~ 1w12| 100.00| TnS | 000 ~ 1012]| 245 12.37 zh st 1.00 | 5.00 ~ 1061 100.00| Fhdst | 500 ~ 1985 245 12.37
7 100kN/m%E#8z%5| 1.00 | 000 ~ 252| 13945 |3mE8BZb - ~ — — — | 100kN/mM%#z2% | 1.00 | 1053 ~ 2145| 13945 |3mERBZD - ~ — — —
zhst 1.00 | 252 ~ 1030 100.00 | Fns | 000 ~ 1030| 272 13.74 zhst 1.00 | 6,00 ~ 1053 100.00| ZhS | 500 ~ 2145 272 13.74
g 100kN/m%E#8z%5 | 1.00 | 000 ~ 256\ 140.16 |3mE8BZD -~ — — — | 100kN/M%E#BZ2 | 1.00 | 1072 ~ 2145 140.16 |3mEHEZD - ~ — — —
Zhst 1.00 | 256 ~ 1034 100.00 | FhUs | 0.00 ~ 1034 2.83 14.31 Zh st 1.00 | 5.00 ~ 1072 100.00| Thst | 500 ~ 2145 2.83 14.31
9 100kN/m%E#8z%5| 1.00 000 ~ 245| 13829 |3mE#8Zb - ~ — — — | 100kN/MZE#BZ2 | 1.00 | 1072 ~ 2067 13829 |3m&EHZD - ~ — — —
zhst 1.00 | 245 ~ 1023 100.00 | Fhds | 000 ~ 1023] 283 14.33 Zh st 1.00 | 5.00 ~ 1072 100.00 | #hls\ | 6,00 ~ 2067] 2.83 14.33
10 100kN/m%E#z5| 1.00 | 000 ~ 262| 141.19 |3mE8z253| — ~ — — — | 100kN/mi%E#822 | 1.00 | 1071 ~ 2191 | 141.19 |3mERZS — ~ — — —
Zhst 1.00 | 262 ~ 1040 100.00| Fhds | 000 ~ 1040| 2.83 14.31 zhst 1.00 | 5.00 ~ 1071 100.00| Thst | 500 ~ 2191 283 14.31
11 100kN/mM%EBZS | 1.00 | 0.00 ~ 251 139.33 |3mEBZ 3 - ~ — — — | 100kN/M%#z2% | 1.00 | 1064 ~ 2105 139.33 |3mERBZ5D - ~ — — —
Zhst 1.00 | 251 ~ 1029 100.00 | FhS | 0.00 ~ 1029 2.80 14.17 zh st 1.00 | 6.00 ~ 1064 100.00| TEhs | 500 ~ 21.05| 2.80 14.17
100kN/m%E#B 2% ~ 3ImEBZ5 ~ 100kN/mZE#B 75 ~ 3ImEBAD ~
zhn st ~ zhn st ~ zh st ~ zh st ~
100kN/m%E#B 2% ~ 3mEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBAD ~
zhn st ~ zhn st ~ zh st ~ zh st ~
100kN/m%E#B 2% ~ 3ImEBZ5 ~ 100kN/mZE#B 75 ~ 3ImEBAD ~
zhn st ~ Zzhn st ~ zh st ~ zh st ~
100kN/m%E#B 2% ~ 3mEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBZD ~
Zzn st ~ Zzn st ~ Fh st ~ h st ~




